HONDA

Accessory

INSTALLATION
INSTRUCTIONS

TRAILER HITCH

Application Publications No.
All 40237
2009 ODYSSEY lesue Date
AUG 2008

NOTE: A required heavy-duty power steering
cooler, ATF cooler and air duct are required before
towing. Have the recommended parts (sold
separately) available when installing the trailer
hitch kit.

PARTS LIST

Trailer Hitch (sold separately)
P/N 08L92-SHJ-100

Trailer hitch

Ball mount

Hitch pin

Hitch pin clip

6 Bolts, 12 x 40 mm

6 Lock washers, 12 mm

6 Plain washers, 12 mm

Receiver cover

Template

© 2008 American Honda Motor Co., Inc. - All Rights Reserved.

All 40237 (0808)

Trailer Hitch Harness (sold separately)
P/N 08L91-SHJ-100

Trailer harness

Control unit harness

a3 &

e
9
=

Control unit

%\E

Control unit bracket

Harness bracket

Connector bracket

0% &

Flange nut, 6 mm

2 Flange bolts, 6 x 16 mm

18 Wire ties

08L92-SHJ-1000-91 1 of 15



Wire ties with clip

2 Cable clips

Connector clip

Fuse, 7.5 A

Fuse label

Owner’s manual

Heavy-Duty P/S Cooler Kit (sold separately)
P/N 53765-SHJ-325

Heavy-duty P/S cooler

Washer-bolt, 6 x 12 mm

Washer-bolt, 8 x 12 mm %

20of 15 All 40237 (0808)

ATF Cooler Kit (sold separately)
P/N 06255-RGL-305

ATF Cooler

Rubber hose (370 mm)
%)

Rubber hose (320 mm)
%

Rubber hose (220 mm)

2 Washer-bolts, 6 x 12 mm

Nut, 6 mm \&
@)
6 Hose clamps @
N ug\\
ATF hose spacer @
2 Hose clips

Mirror "hang tag"

Air Duct (sold separately)
P/N 71105-SHJ-A01

Alrduct \

4 Clips %

© 2008 American Honda Motor Co., Inc. - All Rights Reserved.



TOOLS AND SUPPLIES REQUIRED

Phillips screwdriver

Flat-tip screwdriver

Ratchet

5 mm, 6 mm, 10 mm, 12 mm, and 19 mm Sockets
Utility knife

Tape measure

Clip remover

Diagonal cutters

Sandpaper

Torque wrench

Drill

Blanket

Eye protection (safety goggles, face shield, etc.)
4 Pushpins

Isopropyl alcohol

Shop towel

Piece of stiff wire

Available through the Honda Tool and Equipment
Program at 888-424-6857:

Hole saw 13/16 in. (20 mm) P/N: LHS26D

Arbor P/N: LHS1C

lllustration of the Trailer Hitch Installed on the
Vehicle

CONTROL
UNIT

CONTROL
UNIT
HARNESS

TRAILER
HITCH

INSTALLATION

Customer Information: The information in this
installation instruction is intended for use only by
skilled technicians who have the proper tools,
equipment, and training to correctly and safely add
equipment to your vehicle. These procedures should
not be attempted by “do-it-yourselfers.”

NOTE:
e Be careful not to damage the rear bumper or
other finished surfaces of the body.

e Letthe P/Sfluid, the ATF, and the surrounding
parts cool down before you install the coolers.

1. Make sure you have the anti-theft code for the
radio, then write down the audio presets.

2. Disconnect the negative cable from the battery.

3. Remove the rear bumper.

e |f equipped, remove the two screws (one on
each side) that secure the inner fender.

¢ Remove the four self-tapping screws (two on
each side) at the fenderwell.

e Using a clip remover, pry out and remove the
three clips along the bottom of the bumper.

e Using a flat-tip screwdriver, pry out and remove
the bumper bolt covers, then remove the four
bumper bolts.

¢ With the help of an assistant, release the
bumper from the fenderwell, and slide the
bumper away from the vehicle.

e |f equipped, unplug the backup sensor
connectors.

e Setthe bumper on a blanket.

4 SELF-
TAPPING SELF-TAPPING \
SCREW !

SCREWS
If equipped
with an inner

TRAILER \
HARNESS REAR
BUMPER
SELF-TAPPING SCREW
If equipped with an inner y
fender CLIP3
© 2008 American Honda Motor Co., Inc. - All Rights Reserved. All 40237 (0808) 3of15



4. Ontheinside of the rear bumper, place the
template on the bumper with the hole in the

template over the center clip hole.

REAR
BUMPER

REAR
BUMPER

FELT-TIP

PEN 4 TEMPLATE

MARKS CENTER

CLIP HOLE

Using a felt-tip pen, mark the bumper around the
outside of the template. Using a pushpin, pierce a
hole through the bumper at each of the four
marked positions on the template. Remove the
template.

Turn the bumper over. While wearing eye
protection, drill a 20 mm hole through the bumper
at the four marked locations.

20 mm
HOLE SAW

REAR
BUMPER

4 MARKS

40of 15

7.

8.

9.

All 40237 (0808)

Using a utility knife, cut along the marked area,
and remove the center section of the bumper.
Using a file, remove any burrs from the bumper.

REAR
BUMPER

MARK f—
IK//// g

==\

s

REAR
BUMPER —{

Install the trailer hitch to the rear frame, using the
six 12 x 40 mm bolts, lock washers, and plain
washers, tighten the right side bolts first.

TRAILER HITCH

6 LOCK
é WASHERS
5 BOLTS %
58 Ib-ft
(80 N-m)  BoLT
(Do not tighten

yet.)

Torque the five trailer hitch bolts to 58 Ib-ft
(80 N-m).

© 2008 American Honda Motor Co., Inc. - All Rights Reserved.



Installing the Trailer Hitch Harness

10. Pull out the weatherstrip at the rear trim panel.
Remove the rear trim panel (two screws, and lift to
release the ten clips).

10 CLIP

REAR TRIM

11. Remove the jack cover (two tabs).

LEFT REAR SIDE
TRIM PANEL

JACK JACK JACK COVER

HANDLE
(Lower)

12. Lower the jack handle, then remove the jack.

© 2008 American Honda Motor Co., Inc. - All Rights Reserved.

13. Locate and remove the rubber grommet from the
left rear bumper area.

RUBBER

GROMMET TRAILER
HARNESS
(Point down.) STEEL
WIRE  yRAILER
TRAILER HARNESS
HARNESS CONNECTOR

\ |

MLM, 7

«»

OUTSIDE INSIDE

RUBBER
GROMMET
(Discard.)

TRAILER
HARNESS

TRAILER
HARNESS — ]
CONNECTOR

INSIDE THE CARGO AREA

14. Tape the trailer harness connector to a piece of
steel wire. Route the trailer harness connector in
the cargo area, and seat the rubber grommet into
the body panel with the rubber grommet pointing
down.

All 40237 (0808) 50f15



15. Route the trailer harness along the body panel.
Using isopropyl on a clean towel, clean the body
panel where the cable clips will attach. Attach the
cable clips to the body panel, and secure the
harness at the green tape using two wire ties
attached to the cable clips.

CABLE
CLIP

TRAILER
HARNESS

TRAILER
HARNESS
N /

CABLE TIE
CLIP TRAILER
HARNESS

16. Under the left side of the vehicle, remove the rear
trailer hitch bolt. Reinstall the trailer hitch bolt with
the harness bracket attached. Torque the trailer
hitch bolt to 58 Ib-ft (80 N-m).

HARNESS

17. Attach one wire tie with clip to the trailer harness
at the green tape, then insert the clip into the hole
in the harness bracket.

WIRE TIE

TRAILER WITH CLIP

HARNESS
BRACKET

18. Secure the trailer harness to the trailer hitch with
four wire ties.

TRAILER
HARNESS

TRAILER
HITCH

WIRE TIES

BRACKET
TRAILER HITCH BOLT Lﬁ%hER
Torque to 58 Ib-ft
(80 N-m)
6 of 15 All 40237 (0808) © 2008 American Honda Motor Co., Inc. - All Rights Reserved.



19. Insert the trailer harness 4-pin connector into the
connector bracket, then attach the connector
bracket to the trailer hitch with the 6 x 16 mm bolt
and flange nut.

6 x 16 mm
FLANGE BOLT

TRAILER

CONNECTOR
BRACKET

FLANGE NUT

/
TRAILER HARNESS
4-PIN CONNECTOR

20. Secure the trailer harness to the trailer hitch with
two wire ties.

TRAILER

RAILER
HITCH

© 2008 American Honda Motor Co., Inc. - All Rights Reserved.

Installing the Control Unit

21. Attach the control unit to the control unit bracket.

CONTROL UNIT

CKET

CONTROL UNIT

22. Inside the left rear cargo area, insert the control
unit bracket through the square hole in the vehicle
panel, and secure the control unit assembly with
one 6 x 16 mm flange bolt.

CONTROL UNIT

VEHICLE
PANEL

CONTROL
UNIT
BRACKET

6 x 16 mm
FLANGE CONTROL UNIT

BOLT ASSEMBLY

All 40237 (0808) 7 of 15



8of 15

23. Slide the connector clip into the slot on the trailer
harness 4-pin connector, then attach the trailer
harness 4-pin connector to the control unit
bracket.

TRAILER

HARNESS 4-PIN
cup HARNESS
VEHICLE
HARNESS

S
=LA

|
coNTRON\ || U |
oy \ J

CONTROL UNIT
BRACKET

24. Secure the trailer harness with one wire tie to the
vehicle harness.

25. Get the control unit harness. Plug the control unit
harness 4-pin connector into the trailer harness 4-
pin connector. Plug the control unit harness 12-pin
connector into the control unit 12-pin connector.

CONTROL UNIT
HARNESS 12-PIN

jCONNECTOR

CONTROL
UNIT
HARNESS

TRAILER
HARNESS 4-PIN
CONNECTOR

CONTROL UNIT
HARNESS 4-PIN
CONNECTOR

All 40237 (0808)

26. Attach the 7.5 A fuse label to the fuse case on the
control unit harness.

FUSE CASE

CONTROL
UNIT
HARNESS

VEHICLE
HARNESS

WIRE TIES
CONTROL UNIT

HARNESS

27. Route the control unit harness toward the right
side of the vehicle, and secure the harness to the
vehicle harness with three wire ties.

28. Continue routing the control unit harness along the
rear of the vehicle and toward the right rear side
trim panel. Secure the harness to the vehicle
harness with four additional wire ties.

VEHICLE
HARNESS

CONTROL

WIRE TIES UNIT
HARNESS

© 2008 American Honda Motor Co., Inc. - All Rights Reserved.



29. Pull out the weatherstrip at the right rear side trim
panel. Remove the anchor bolt near the top of the
side panel, and gently pull out on the right rear
side trim panel to release the two clips.

WEATHERSTRIP
(Pull away)

ANCHOR . (
BOLT

2 CLIPS

RIGHT REAR SIDE
TRIM PANEL

30. With an assistant gently pulling out on the right
rear side trim panel, plug the control unit harness
8-pin connector into the rear junction box. Secure
the control unit harness to the vehicle harness

32. Remove the fuse cover from the right kick panel
(two retaining tabs and one hook).

FUSE
COVER

RETAINING
TABS

RIGHT KICK
PANEL

33. Install the 7.5 A fuse into the passengers under-
dash fuse/relay box at the location shown.

with two wire ties. ("
REAR
JUNCTION BOX
PASSENGER’S
REAR
UNDER-DASH
JUNCTION BOX FUSE/RELAY
BOX
\_ View front J
[TE__ 7.5 AFUSE
I
L @gm DS
[T7 i
- %
7!
7.5 AFUSE
CONTROL
CONTROL UNIT UNIT
RIGHT KICK

HARNESS wiRe Ties HARNESS PANEL

8-PIN VEHICLE

CONNECTOR HARNESS

31. Reattach the right rear side trim panel, and
reinstall the anchor bolt.
© 2008 American Honda Motor Co., Inc. - All Rights Reserved. All 40237 (0808) 9o0f 15



34. Attach the fuse label (7.5 A) to the fuse cover as
shown.

FUSE FUSE COVER

LABEL
(7.5 A)

35. Reinstall the rear bumper.

( REAR BUMPER _ CUT PART

/OF REAR
BUMPER

4 SELF-
TAPPING
SCREWS
(reused)

4 BOLTS
(reused)

4 COVERS
(reused)

REAR BUMPER

2 SELF-
L
If equiped with (reused)
an inner fender
(reused) 2 SCREWS
(reused)
10 of 15

All 40237 (0808)

36. Slide the ball mount into the trailer hitch, and
insert the retaining pin. Secure the retaining pin
with the retaining clip.

TRAILER
RETAINING HITCH
PIN r
S
TRAILER HITCH
N
RETAINING
PIN CLIP

RETAINING PIN

BALL MOUNT

37. Reinstall all removed parts.
Installing the P/S and ATF Coolers
38. Remove the front bumper:
* Remove the radiator bulkhead cover.

* Remove the six clips and the two bolts along
the bottom of the bumper.

¢ Remove the two clips from the top of the
bumper (one on each side).

¢ Remove one screw from the inside of each
fenderwell.

e Lift the bumper off of the hooks, and set the
bumper on a blanket while you install the P/S
and ATF coolers.

SCREW
(reused)

2 CLIPS
(reused)

FRONT BUMPER

6 CLIPS
(reused) BOLT

© 2008 American Honda Motor Co., Inc. - All Rights Reserved.



39. Remove the bumper beam (six bolts). 41. With a drain pan under the vehicle, remove the
two bolts and two hose clamps that secure the
existing P/S cooler. Release the clips, disconnect
the P/S fluid lines, and remove the power steering
cooler. Set the P/S cooler aside; it will not be
reused.

40. Under the vehicle, remove the front splash shield
(17 clips).

BOLT %
(Discard.)

BOLT
(Reuse.)

42. Position the heavy-duty P/S cooler on the radiator
bulkhead, and attach the vehicle P/S lines to the
cooler using the new hose clamps from the kit,
and secure the clips. Attach the P/S cooler to the
radiator bulkhead using the one 6 x 12 mm bolt
and the 8 x 12 mm bolt from the kit.

6 x 172 mm BOLT

8 x 12 mm BOLT

© 2008 American Honda Motor Co., Inc. - All Rights Reserved. All 40237 (0808) 11 of 15



43.

44,

12 of 15

Get the new ATF cooler, the 370 mm hose, and
the 320 mm hose. Install the 320 mm hose to the
upper pipe of the ATF cooler, and secure the hose
with one new hose clamp from the kit. Install the
370 mm hose to the lower pipe of the ATF cooler,
and secure the hose with one new hose clamp
from the Kkit.

Route the hoses installed on the ATF cooler
through the bulkhead, and position the ATF cooler
on the front bulkhead. Align the bolt holes in the
cooler with the holes in the bulkhead. Install two
6 x 12 mm washer-bolts, (one supplied, one
reused) into the threaded holes to secure the ATF
cooler, and install the remaining 6 x 12 mm
washer-bolt (supplied) with nut into the non-
threaded hole. Tighten all of the bolts securely.

6 x 12 mm 6 x 12 mm
WASHER-BOLT WASHER-BOLT
(supplied) (reused)

45.

46.

47.

All 40237 (0808)

Remove and discard the existing ATF hose

spacer and the two hose clips. Remove and

discard the ATF feed line hose (two hose clamps).
HOSE

SPACER
(Discard.)

ATF FEED
LINE HOSE
(Discard.)

Install the upper hose (320 mm) from the ATF
cooler to the ATF feed line using one new hose
clamp. Make sure the new clamp is installed
7 mm from the end of hose.

ATF COOLER
UPPER HOSE
(320 mm)

ATF FEED
LINE

END OF 2
HOSE
LOWER
RADIATOR
FITTING
L
—1. P _N_ @
[ONEY \/ ) | ATF cooLEr
| LOWER HOSE
> - (370 mm)
7 mm
CLAMP

Install the lower hose (370 mm) from the ATF
cooler lower hose to the lower radiator fitting using
one new hose clamp. Make sure the new clamp is
installed 7 mm from the end of hose.

© 2008 American Honda Motor Co., Inc. - All Rights Reserved.



© 2008 American Honda Motor Co., Inc. - All Rights Reserved.

48. Getthe new ATF hose (220 mm), and the
remaining two hose clamps. Remove and discard
the existing ATF return hose and clamps, and
install the new ATF return hose and clamps in its
place. Make sure the new clamps are installed
7 mm from the end of hose ends.

|/
ATF HOSE \_J

(Remove and
discard.)

NEW ATF HOSE
(220 mm)

END OF
HOSE

]

CLAMP

All 40237 (0808)

49. Attach the new ATF hose spacer between the two
hoses at the white line painted on the ATF hose.

ATF COOLER —
UPPER HOSE

W ===

NEW ATF
HOSE

ATF HOSE (220 mm)

ATF COOLER ATF HOSE ATF PIPE
LOWER HOSE CLIP
(370 mm)

50. Attach the two new hose clips to the brackets on
the ATF pipe. Secure the lower cooler line to the
ATF pipe using the hose clips.

13 of 15



51.

52.

53.
54.
55.

56

57.

Position the air duct on the radiator bulkhead, and
install the four clips to secure the air duct.

AIR DUCT

Reinstall the front bumper beam, and torque the
bumper beam bolts to 22 Ib-ft (26 N-m).

Reinstall the splash shield, and the front bumper.
Reconnect the negative cable to the battery.

Enter the customer’s radio anti-theft code, and
reset the audio presets.

Reset the clock.

Reinstall all removed parts.

NOTE: Whenever the battery is disconnected, the
driver’'s window AUTO function is disabled.

58.

58.

60.

61.

62.

63.

Start the engine. Push down on the driver’s
window switch until the window is fully open.

Pull up on the driver's window switch to close the
window completely, then hold the switch for
2 seconds or more.

Lower and raise the window to check the operation
of the driver's window AUTO function.

Start the vehicle and check for leaks; repair as
necessary.

Check the ATF and the P/S fluid levels and adjust
them as necessary.

Attach the hang tag around the rear view mirror.

NOTE: After about 620 miles (1,000 km), recheck the
torque of the trailer hitch bolts.

14 of 15

All 40237 (0808)

© 2008 American Honda Motor Co., Inc. - All Rights Reserved.



Give a copy of this page to your customer.

Installing the Receiver Cover

Whenever you remove the hitch pin clip, the hitch pin,
and the ball mount, store them securely in the cargo
area. Install the receiver cover into the opening at the
end of the trailer hitch. When you reinstall the ball
mount, store the receiver cover in the cargo area. After
the first 620 miles (1,000 km) of towing, have your
Honda dealer recheck the tightness of the trailer hitch
bolts.

RECEIVER
COVER

TRAILER HITCH

© 2008 American Honda Motor Co., Inc. - All Rights Reserved. All 40237 (0808) 15 of 15



